4

&)

\ 4

2

CLOPAY MODEL 3200: 24 GA. EXTERIOR STEEL SKIN UP TO 24'2"W x 18°0"H MAXIMUM REVISIONS
HC——“_—E?EE fﬂ%%EEL ii%&zfgc sz EéTER'OR STEEL SKIN REV. NOJ ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
. - st BRERIDRASTEEE SN 03 - |oz/2012 | - - UPDATED WINDCODE CHART
1) 20 GA. X 2° GALV, STEEL BACKER PLATE
AT EACH INTERMECSSTE HINGE LOCATION. CPTIONAL 24" x B DSB GLASS OR INSULATED 04 - 08/ 2012 = - REVISED FOR TDI
BACKER PLATE ATTACHED WiTH DOUBLE SIDED U-BAR SEE SECTION A-A GLASS WINDOW LITES.
O A= - 0 B BRI VIEW B’ 05 - |08/2013 | - = REMOVED ACRYLIC/WIRE GLASS. ADDED GLAZING SIZE FOR FV.
— A ADJUSTABLE TOP ROLLER BRACKETS
T 06 — 08/2016 - - REMOVED WIND SPEED TABLE.
C-CHANNEL — SEE SECTION A-A FOR DETALS
. 7 ] i [ & | [ & | & - oumue i [~ OPTIONAL STOP MOULDING BY DOOR INSTALLER (10 SurT)
z M I
EMH SIUE} 16 GA. MIN. GALV. STEEL DOUBLE END STILE
L T 1 r
OPTIONAL ALUMINUM FULL VISION WINGOW LITE SECTIONS AVMLABLE ; i
o o o # o # ] 1/8" DSB QR 1/2° INSUL.). FULL WISSON SECTIONS TO HAVE SAME
il " £ o il cnz':urmucm AS OTHER SECTIONS EXCEPT AS NOTED. INTERMEDIATE JAM B CO NF | GURAﬂON
A GLAZING PAMELS TYP, 22" WIDE; END PANELS SHALL NOT EXCEED 35" |
i e INSIDE SLIDE SO0LT
v L
(MIN) TRACK, ONE LOCK ON 14 GA. GALV. STEEL CENTER HINGE FASTENED TO
n LOCKING EACH SIDE OF DOOR, \ INSIDE SKIM W/{4) §14x5/8" SHEET METAL SCREWS.
‘I s = REQUIRED |L="Lrsn1$:;£?zs \ {VIEW "8")
8 e 6" C—CHANNEL STRAP; (T) = L ' 7/16° PUSHNUT INSTALLED ON ROLLER SHAFT
| FULL VSO SECTONS WA (3| Laie ALomRLEn O 1 L St Lot
S 7 ;'_____ "¢| STRAPS PER SECTION, 08 WIEARATIONAL. BULONG. CODE BUY DOES. NBY MEET THE 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO END STILES
©5) CENTER HINGES PER SECTION A ;E’M!T R?EJMITIB;I;EGEJ:;NE::T.;JDR WINOBORKE DEARIS W/(4) #14x5/8" SHEET METAL SCREWS AND (2) 1/4%x3/4
2 ] P REWS. iy
e NS SELF TAPPING SCREWS. (VIEW "A")
MAX. DOOR WIDTH 24'-2" § 0120394, MOUNT WITH 3 STEEL LONG STEM ROLLER
S 6" C—CHAMNEL OTf 3 SELF DRILLING
SCREWS AS SHOW
VIEW "E" T| N _ B
DO0R HEIGHT A NWUMBER OF HORIZONTAL TRACK SUPPORT BY S EC O B
SECTIONS ATTACH THE 6" x 2-1/4"x 12 GA. STEEL DOOR INSTALLER (TO' SWNT) \
— REINFORCING PLATE TO THE UNDERSIDE OF THE
UF 10 8 -0 4
A A TR 5 C—-CHAMMEL WITH (4) 1/4"x3/4
e THRU 130" & SELF TAPPING SCREWS AT THESE LOCATIOMS.
= o . SILICONE FILLED CHAMNEL SEPARATES
12°-3" THRU 14'=0' 7 3" GALV. TAPERED STEEL TRACK AND AMGLE,
14°=3" THRU 16 -0~ 8 TRACK THICKNESS: 1017, ANGLE THICKNESS: 0807 PHRHT SN A Bl 0f DO00%
16°-3" THRU 18-0" [ 9 s s 1.95" THICK, 1§ DENSITY 5
VERTICAL/HORIZONTAL TRACK 4" MAXIM PACIN . . 2" THICK N
MAX, SECTION HEIGHT: 247 = ™S JUNCTION. TWO 1747 BOLTS | :\'nou Jﬂwﬁugﬁg EXPANDED POLYSTYRENE [— 3" TALL x 20 GA. GALV. STEEL U-BAR. ATTACHED ONE AT THE
z & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION FOAM INSULATION LAMINATED TOP OF EACH SECTION EACH U-BAR ATTACHED WITH (2)
WOTE: TRACK % T Ly BGTHN%TR‘E@UEKTSE 1,/4":3/4" SELF TAPPING SCREWS AT EACH BACKER PLATE & 4
"w - I 5
(%) #14x5/8" SHEET CONFIGURATION ASOVE e [P ADDITIONAL MOUNTING. SLOTS REQUIRED FOR DOORS SCREWS ON EACH END STILE
META R THE DOOR OPENING 07 HIGH AT 12 ;
ETAL SCREWS DOES MNOT AFFECT THE § T 12 GA GALV. STEEL TOP ROLLER BRACKET. E,Aé:st EE;UCKSI;:TTABLE
WIND LOAD RATING OF " TRACK CONFIGURATION ATTACHED W/(4) §14x5/8" SHEET METAL SCREWS. u
o e e 1/471,/2" BOLTS AND
s : one ¢ T et s o U ey oo el e
2 - AT EACH MOUNTING SLOT :
T LOCATION,
(2) 1/4"x3/4" SELF <] 1-1/4" WIDE MIN. % 16 GA, GALV. STEEL STRAP. EACH
TAPPING SCREWS \ Z T TONGUE AND STRAP ATTACHED W/(3) 1/4"x3/4" SELF r.n:mns
14 GA. END HINGE 14 . INTERMEDIATE HIN z EI gg{%}:r - GROOVE JOINTS SCREWS (TWO TO DOOR, OME TO C-CHAMNEL).
s VIEw "B" oW ™
MIEW "A _g;g, 1%13]_ ONE 5/167 x 1-5/8" LAG SCREW 6" X 2-K° X 12 GA. STEEL PLATE. SEE VIEW “E*
. T EE SPACED AT THE SAME DISTANCES AS THE
rasiiie i FR T TRACK BOLTS (LE. 3-1/2°, 10", AND —
I 14— 160" EVERY 127).  ALSO TWD LAG SCREWS P E—E—LNEL
L or 15—0]172" LOCATED ABOVE VERTICAL/HORIZONTAL T mm—— 5" T mvm. e
e TRALK UNCHON, HINGE. (SEE VIEW &) W TIELD STRENGTH SOKSI
T Tl 24 GA. MIN. EXTERIOR STEEL
olR WITH GALV. &POLYESTER FINISH ONE 6" TALL, 16 GA. C-CHANMEL PER DOOR SECTIOM. ]
(1) 1/4"x3/4" SELF TAPPING SCREW PER END STILE AND |
27 GA. MIN, INTERIOR STEEL SKIN - —
WITH GALV. & POLYESTER FINISH B BACKER PLATE LOCATION. [SEE WIEW °C) l 2=/
' 58" L
12 GA, GALV. STEEL BOTTOM BRACKET. ATTACHED
WITH (4) #14x5,/8" SHEET METAL SCREWS.
NOTE: THE DESIGN OF THE SUPPORTING L s
ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY DESIGN ENGINEER: MARK WESTERFIELD, P.E.
ON-CENTER DISTANCE, HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. QF THE PH{}FESSIOEJALRE}F RIS:CDRE.CEEEDLHE:E . FuLE{;Ré?: P.E. i&a;gsd r».n:2 :.:. P;;;aaaz. TEXAS P.E. ;9(:5;;3 e
BUILDING OR STRUCTU AMD IN M ”h"' ALUMINUM EXTRUSION & VINYL WEATHERSTRIP, | LOADS: +25.0, =25, MANUF ACTURIN t
1 STEEL JAMBS WOOD JAMES WITH CURRENT BUILDING CODES FOR THI—." -LC D 1 ) TION A—A (SIDE VIEW) TEST LOADS: +37.5, -37.5 PSF MPC: C-DSIE-1F 447
200 PEF NN 3fUb" U, STEEL 172w, ISTED ON THIS DRAWING. s SECTIO
Sl s EMBED LAG SCREW LISTED /e
38" DA, = 112" EWEED . 1-1/5" WASHER REQDL Unless Stated Clherwise - 8585 Duke Boulevard CcLOPAY WINDLOAD RATING
| SLEEVE AMCHOR MAY BE BACX-FILLED Fitod WA BC TO T RAMCE n a Mason, OH 45040 USA
E¥E o Wi CoRCRCTE, o7 S TaPPG Foome 2e w000 | ST pwes 31 wm, OLERANCES ore |\l Tel. No. 513-770-4800
1" MAx, 0C. NOT REQURED FOR NAX. O.L. SAMB TO WOOD STEEL g T el o,
10 copmgre TS 10 SEQURE 2o # Weeoen ! 0= +.031 Building Preducts Company Fax Mo. 513-770-4833
/; B e i : 7 : (0 - 015 [DESCRIPTION: WODEL 240/3200/3220 WNDLOAD 242"
108" 1 [ ot i = v .
< CONTIUDUS ANGLE MOUNT CONTAUOUS ANGLE WOUNT EEE{W‘&D.F.E% i f.LLF:Tmesﬁpntszm . 0000 = +.001 DRAWN BY: BFa DATE: 11,/08/04 SCALE: NONE DWG.
TRACK FASTEMED 10 26 ﬂ Bﬁ TRACK FASTENED TO 28 2 OR TO BE LOCATED VERTHOALLY, 0 Fa . = -
by e Al s - e Degrees = &1/ |CHECKED BY: - DATE: - SHEET 1 OF 1 [SIZE
oML 5,161 -5,/ LG, REVIRSE OR COMTRUOUS OHE 5116780 -5,/8" LG, LAG CENTER AND 174" TACK ' 2o Thrrd " Ay e > g . .
SChew PR SIACKET O TRADG ANGLE WOUMT TRADE SCREW PER BRAGGT DR TRACK ar DR_CONTMIIS At boes o glg Unless Stoted Otherwise =
e Lo | oo Soee o e i DRECTLY 16 STEEL LB Projection .\ g5 _ DIMENSIONS ARE IN INCHES.| DWG. NO.: 103334 VER: Di
‘ﬁ. E S

4

S

&
My

[ L i
P
4 W, “Ega,
.,

A o

()

L



